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Who designed supercomputers in 1960s
at Control Data Corporation (CDC) ?

(A) Alan Turing

(B) Charles Babbage
(C) Tim Berners-Lee
(D) Seymour Cray

What differentiates second and third
generation of computers ?

(A) Microprocessor
(B) Vacuum tube

(C) Nano technology
(D) Artificial intelligence

Compact Disk (CD) is which type of
memory ?

(A) Primary Memory
(B) RAM

(C) ROM

(D) Secondary Memory

Bus in computer is

(A) Networking device

(B) Bunch of wires

(C) Another name for Motherboard
(D) Internal Memory

Which is NOT a software in following list ?
(A) OpenOffice (B) Microsoft
(C) DOS (D) Antivirus

Which is NOT a peripheral device ?
(A) Visual display unit
(B) Main Memory chip
(C) Modem
(D) Pen Drive
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Tk Teiien St complexity Sfaffie sar 2
(A) foore
(B) e
(C) HATUsZdl
(D) &ar
Computation logic 3! foeeh ST visually
fommn s Ehar ? 7
(A) fogere siferh
(B) Wiaddt
(C) vam fu=
(D) VI HUTEsH

87.

88.

89. THISRMA H (BABA),q e H TR 7
(A) 134272

(B) 132272

(C) 135272

(D) 135242

4.77 TATEES 3R 10 WITESS o I&TeT0T &
(A) I/O I

90.

(B) 2T LTI T
(C) e uet i wufdrfthere

(D) STeT VSR T

e ATt T S e Y Sfe e € 7 et
WRER ?

(A) TR fewh 0 ¢

(B) foreft +fi fearsw

(C) RAM

91.

(D) ROM
DHC TS12-WM
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Complexity of an algorithm represents its
(A) Performance

(B) Toughness

(C) Obscurity

(D) Correctness

Computation logic can be represented
visually by using

(A) Visual Basic

(B) Foxpro

(C) Flow chart

(D) VI editor

(BABA), ¢ in hexadecimal is what in octal ?
(A) 134272
(B) 132272
(C) 135272
(D) 135242

4.77 Mhz and 10 Mhz are examples of
(A) I/O speed
(B) Data Transfer speed
(C) Computer clock speed specification

(D) Data storage speed

Boot Loader program which invokes

booting of the system is stored in
(A) Hard disc 0O track
(B) Any device
(C) RAM
(D) ROM
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92. et g fore < gRT TRt ST HehalT © 7 92. Data inconsistency can be prevented by
(A) sifRaT preventing
(B) Ferem (A) Redundancy
(B) Metadata
EC; Tr&:_jm (C) Deadlocks
D) =g

(D) Multiprogramming
93. AT A 12,000 T & STk el ST =R |

93. Employee salary should not be greater

REE than Rs. 12,000. This is
(A) IT@EaT ST (A) Integrity constraint
(B) wafld amen (B) Referential constraint
(C) 3fersr uftsmfyg amen (C) Over-defined constraint
(D) SATIRTIG STe (D) Feasible constraint

o4 Wm%WﬁﬁﬂﬁﬁwW% 94. Database Design includes the functions like
(A) fafim arfererett 41 vg=m (A) Identification of different tables
(B) 7ot farsrwaatt & @er & sht fAmior

(B) Creation of fields with their attributes

(C) Creating validation rules and

(©) el 3 S S e bt T database interrelationships
(D) 3tk @t (D) All of the above
95. relation H attributes = TREIT =l a1 ST & 95.  The number of attributes in relation is called
(A) ST as its
(B) ferft (A) Cardinality
(B) Degree
(©) e (C) Tuples
) = (D) Entity

96. table T column for8 & ®9 8 STETSITAT 2 7 _
96. The column of a table is referred to as the

(A) = (A) tuple
(B) T (B) attribute
(C) 3hiE (C) entity
(D) feuht (D) degree

DHC TS12-WM -17- *
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97.

98.

99.

100.
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ACID T[Tt %1 82 2 51 reliably =it TRET 2 | T&f
A%

(A) T

(G REIIEET

(C) T

(D) TaeH

wiaadl § ‘DELE’ AT T foham ST 2
(A) Tt et gem & o
(B) dfeteht g2 o ford
(C) et fwhiE gem & o
(D) M o foru ferté fafea =t

%I 3Tehal § AT user AT S ?
(A) CREATE USER Susan;

(B) CREATE OR REPLACE USER

Susan;

(C) CREATE NEW USER Susan
DEFAULT;

(D) CREATE USER SusanIDENTIFIED
BY blue;

frerffiaa & frad P AR R 7
(A) Select*from EMP where EMPID = 15;

(B) Select EMPID from EMP where
EMPID = 15;

(C) Select EMPID from EMP;

(D) Select EMPID where EMPID = 15
and LASTNAME = ‘Singh’;
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ACID is a set of properties that guarantee
that database transactions are processed
reliably. Here A stands for

(A) Access

(B) Atomicity
(C) Algorithm
(D) Affiliation

In FoxPro the command ‘DELE’ is used to
(A) Delete all records
(B) Delete table
(C) Delete marked records

(D) Mark the records for deletion

Which statement creates a new user in
ORACLE ?

(A) CREATE USER Susan;
(B) CREATE OR REPLACE USER

Susan;

(C) CREATE NEW USER Susan
DEFAULT;

(D) CREATE USER SusanIDENTIFIED
BY blue;

Which of the following statement contains

an error ?
(A) Select*from EMP where EMPID = 15;

(B) Select EMPID from EMP where
EMPID = 15;

(C) Select EMPID from EMP;

(D) Select EMPID where EMPID = 15
and LASTNAME = 'Singh’;
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101.

102.

103.

104.
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Topelt qforeht # g Wies forasft Feil o w9 #
INEISIETIDI

(A) == [l arfcreRtatt # HiSE @

(B) =& fgeta A @

(C) FB 1= qTfeTeht | Teh TeIfire it 2
(D) Toreft oft a1 nforent & i 72 @

HIgA HHIH T o 2 o U Bigd

(A) 59 T I8 SHe T 7, 9 &

(B) Hepfera fopam o 7

(C) RAM i1 sg3rd Tl # Tudia
(D) feeh & 7 Fegerg T § Tudd B
TEEE I G ok G H SRR #
TR S |

(A) <1 B

(B) St feamm

(C) <21 Hehi

(D) BT AigaA

4 w3l At T Teeh T s yds wie §
2655 3% e ¢k | 125 Tl 3T Jcdsh Tl
T 512 9152H &I, ITeh! TURY (TERST) &l
g S il

(A) 1GB

(B) 1 MB

(C) 1TB

(D) 1280 KB
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101. Afield in a table can be taken as a foreign
key if
(A) Itis presentin all other tables
(B) It has unique values
(C) Is a primary key in some other table

(D) Is not present in any other table

102. File fragmentation means that a file
(A) Is unusable until it is defragmented
(B) Has been compressed

(C) Is stored in noncontiguous locations
in RAM

(D) Is stored in noncontiguous locations
in disk
103. Information about the structure of Database
is stored in
(A) Data File
(B) Data Dictionary
(C) Data Components

(D) Data Model

104. Storage Capacity of a disk pack consisting
of 4 plates each having 2655 tracks having
125 sectors per track, each sector having

512 bytes is approx.
(A) 1GB
(B) 1 MB
(C) 1TB
(D) 1280 KB
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105.  f=feTRad § € s -4 31 oH oJg ot I T
1 g A § ¢

(A) Master, FAT

(B) Slave, FAT

(C) Primary, Active

(D) Primary, NTFS

el I3 W U e o o 8 forzm wem
FA 7, 79 39 i & T Yefdia
L Hhd & |

(A) 32

(B) 64

(C) 256

(D) 1,024

106.

107. TSI TS § Th
(A) 39 FATES
(B) =
(C) @IS 55

(D) 3TUh § H IS T

freaffaa & @ #F-a1 T arrE Yo g
Trerten 2 ST @Rar ?

(A) T o

(B) EXE gt

(C) =€ wrsed

(D) Hrius wrged

Teh SEqTasT 1 O3 37T 3T 9d T/ A o
INLREE T

(A) ®H A

(B) § It

(C) 75w

(D) W | ¥ IS T
DHC TS12-WM

108.

109.

105.

106.

107.

108.

109.
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Which two terms identify a bootable
partition ?

(A) Master, FAT

(B) Slave, FAT

(C) Primary, Active

(D) Primary, NTFS

When a program assigns 8 bits to a pixel,
that pixel can display one of up to
colors.

(A) 32
(B) 64
(C) 256
(D) 1,024

Outlook Express is a
(A) E-mail client
(B) Browser
(C) Search engine
(D) None of the above

Which of the following cannot be removed
by Anti Virus Package ?

(A) SPAM mail
(B) EXE files
(C) Word files
(D) PDF files

The option for sending same document or
letter at different addresses is

(A) Form letters

(B) Mailmerge

(C) Printing

(D) None of the above
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TS ThHi" C$4 T 3T &
(A) T  foru Frdes Thig
(B) & o ToTe wmdes Thte
(C) T o foru furfsa Thig
(D) T & foTQ T THH

110.

111.  MS-EXCEL @i Ts foeryar foreft g srer @2

R fordl 31 ST W2 # gY Nadd & I9E
Tge Foia o1 | Hee i B, 9%
MS-EXCEL w&dTdl 2 |

(A) eTeT fhet

(B) =mfem

(C) RE-3H FTTRE
(D) e fods (36m)

112,  STHYHE o ST 3THT &1 H IR o ohid] TIHE
o foru forehew 1 gTa TR ST
g

(A) Format > Paragraph

(B) Format Painter

(C) Edit > Copy

(D) & forat ST HehaT &

T SRS O O Slagic § 3 T oh e
w0 % fore gm U HA S |

(A) Insert > Bookmark

113.

(B) Insert > Hyperlink
(C) File > PageSetup > Link

(D) Insert > Footnote
DHC TS12-WM
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110. The cell reference C$4 is an example of
(A) Absolute reference to cell
(B) Relative reference to cell
(C) Mixed reference to cell

(D) Simple reference to cell

111. Afeature in MS-EXCEL helping in decision

making by observing the effect of change
in conditions on one data set on another

data set is called MS-EXCEL
(A) Data filter
(B) Charting
(C) What-if analysis

(D) Data series

112. Copying format of text to different areas of

document is done using option
(A) Format > Paragraph
(B) Format Painter
(C) Edit > Copy

(D) Cannot be done

113. Toconnect a text phrase in a document to

another document we use
(A) Insert > Bookmark
(B) Insert > Hyperlink
(C) File > PageSetup > Link

(D) Insert > Footnote
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MS-EXCEL H #shisl ! 390 afoid o8 foran
EIRETIR

(A) MS-EXCEL H TT{thad STieahe Fstt sHT

(B) TR & BIe The

(C) MS-EXCEL # fadsm frifém am am-
R TTeeRe oAl o HTeH § Wetd o oy
BT T FET

(D) STiEahe o HTEH H WIST SR o BIE THS

114.

115. MS-EXCEL &I gehsfle I § $9¢ & o ford

AT STeeAt 3R R & Tt g1er o Yo
=1 gitanfya iR

(A) <1 efeem

(B) eI et

(C) Ta1 Afaeym

(D) a1 &

MS-WORD # Fedhete IR BIAe &l ST
T o o2 g foreken @

(A) Insert > Autotext > Formula

116.

(B) Table > Formula

(C) Format > Paragraph
(D) IRk H 4 g ot 7

FeaT13e wTE faehey 1 e Swm @
(A) TSI I TEfT ST 3T ITASH FHIHT
Ied &
(B) &, B, fafdr ot ww St glaensit
Y S7gufd o
(C) TS W TATEE hl Y TGl hl STA]
ECi
(D) SWIiH Tt
DHC TS12-WM
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Macros in MS-EXCEL may be best
described as follows

(A) Create graphics shortcut keys in
MS-EXCEL

(B) Small pieces of textual phrases

(C) Recording instructions in MS-EXCEL
or creating small programs to be
repeatedly played thru shortcut keys

(D) Playing pieces of text thru shortcuts

Defining constraints and rules regarding
the range and type of data that can be
inputted in a worksheet range in MS-
EXCEL is called

(A) Data Testing
(B) Data Control
(C) Data Validation
(D) Data Query

It is possible to calculate using formula in
MS-WORD using option

(A) Insert > Autotext > Formula

(B) Table > Formula

(C) Format > Paragraph

(D) None of the above

Handout Master option has the following
use

(A) Handouts of presentations that you
wish to make available

(B) Allows features like header, footer,
date and time

(C) Allows miniature presentation of
slides on paper

(D) All of the above
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MS-EXCEL ® @fear fashed forg fore s
form ST ® 7

(A) ST fasewor

(B) 31 ¥e & foTu 31a g1 Ufsawm

(C) =1 wIAfeT

(D) TifeTshr auetei sl gererT

118.

119. N, MM AT H qeF TR F R 7
(A) 3Tk TH

(B) 3T Tl T

(C) T3 i ATTd

(D) sifetesh e

e o AT | e e R

(A) &R THHRT TS AT

(B) et UHIHE =l Seal AT
(C) Ufthtew it Tafan

(D) TE@E | 9 AN

120.

Ife 319 Telnet T FTP o1 ST s R© & dl,
T G=id A & foTu 3=am wa fmferftaa
g -5t gt ?

(A) TATHIH

(B) Usiew™

(C) B (%)

(D) Zi@dr
Frfafaa & @ H9-81 TCP/IP Midenid T
TIH & ol wefi R et T % forg

ST 9 o foTu TfteTeher s s Srguta
e ?

(A) UDP
(B) VMTP
(C) X.25

(D) SMTP
DHC TS12-WM
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Solver option in MS-EXCEL is used for
(A) Data Analysis
(B) Data prediction for different data sets
(C) Formatting of data

(D) Solving statistical problems

What is the main difference between
LAN'’s, WAN’s and MAN’s ?

(A) Their names
(B) Their Data rates
(C) Cost of setup

(D) Geographical coverage

Benefits of a network do not include
(A) Improved information sharing

(B) Better monitoring of
performance

worker

(C) Sharing of peripherals

(D) Low maintenance cost

If you use either Telnet or FTP, which is
the highest layer you are using to transmit
data ?

(A) Application
(B) Presentation
(C) Session
(D) Transport

Which of the following TCP/IP protocol
allows an application program on one
machine to send a datagram to an
application program on another machine ?

(A) UDP
(B) VMTP
(C) X.25
(D) SMTP
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123.

124.

125.

126.

127.
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TieH SATRIA A5 3 Y ST 2 |
(A) ST
(B) X

(C) FRIFRIM TR
(D) Hifer (shiwer) e

i arferet o1 3ega R 7

(A) T IS o T UZH %l GUET AT
(B) TTdsd USH 1 T T FqHT
(C) weash vE

(D) 7T o foTu werdt Fperer Wit @isiT

0S| =edeh ATfehdaer §, HaTg—T==0r 37T
JdA-Teed  h fuIeri R

(A) T (BIF) I

(B) T @I

(C) e T

(D) ETeT fotsh @R

Tod TR fen gt ®9 4 &

(A) TS FATEE Tl foeeH

(B) $gme foreen smenfia

(C) TfomT (Tee) FeTse weR fireen
(D) (B) 3 (C)

f=fafaa @ @ F9-a1 WAN Tam & forg
JTETTH & 7

(A) for=t

(B) fer=

(C) WX

(D) HRRATA

123.

124.

125.

126.

127.
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A modem is connected in between a
telephone line and a

(A) network
(B) computer
(C) communication adapter

(D) serial port

What is the purpose of a routing table ?

(A) To store every address of every
node

(B) To know the exact location of
destination address

(C) To flood network

(D) To find most efficient route to the
destination

In OSI network architecture, the dialogue
control and token management are
responsibilities of OSI

(A) Session layer
(B) Network layer
(C) Transport layer
(D) Data link layer

Railway Reservation Systems are

basically

(A) simple client server systems

(B) intranet based systems

(C) fast distributed networked systems
(D) (B)and (C)
Which of the following is essential for WAN
hardware ?

(A) Bridge

(B) Switch

(C) Router

(D) Firewall
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128.  =IE1 WICihicl Aliehel TSaTsd o TIEA?R Ud i
GieH & foTe =i ferer Sran ® 2
(A) RARP
(B) ARP
(C) IP
(D) ICMP
129. =9 2ATcATSt SURNT L T T GTeIeh © 7
(A) e T SIS Tew € S T
(B) TR Srgedi st St W 3T 2ot Sfteeh
TN T HRIdT U ST
(C) =S =hiHaT el
(D) oiga & &t Tfd & ST X
130. TCP/IP ® Ui T&t™ forcg =1
BATE |
(A) 32
(B) 48
(C) 16
(D) 3I70RH | @ 1 off T
131, fodte S e B g O SR et H e
21 e & forg T AT BT 2
(A) el @Ted
(B) foriem areAl
(C) i sg =+
(D) 3IWiad |sft
132. f=ffaad fearai o @ g =t a1 e =i
e S o foTq IuT ot STt &, @ s
qa Sa e # e Tierehiet 1 3w feman
TR ?
(A) & (B) fort
(C) Tea (D) frdfiex
DHC TS12-WM
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What protocol is used to find the hardware
address of a local device ?

(A) RARP
(B) ARP
(C) IP
(D) ICMP

What is the drawback of using a BUS
topology ?
(A) Only a pair of nodes can be connected

(B) Performance degrades as additional
computers are added or on heavy traffic

(C) There are no drawbacks

(D) Very slow data rates

Port address in TCP/IP is bits
long.

(A) 32

(B) 48

(C) 16

(D) None of the above

A remote batch-processing operation in
which data is solely input to a central
computer would require

(A) telegraph line

(B) simplex lines

(C) mixed bad channel
(D) all of the above

Which of the following device is used to
connect two systems, especially if the
systems use different protocols ?

(A) hub (B) bridge

(C) gateway (D) repeater

*
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e ATk 255.255.255.248 1 3TN ieh
ToRe BT SRIfHR foRdl ST &k § 7

(A) 6

(B) 248

133.

(C) 48
(D) 255

HIET 9T 192.168.10.51 dedeh ID ki feed
], T fewpiee Tame A 7
(A) 192

134.

(B) 192.168.10
(C) 0.0.0.5
(D) 51

Freferfaa o @ wm -t afda S o w
77
i) ot
ii) wHTAd
iii) TEEd
iv) Jrawddt
v) TR
(A) i) 3T i)
(B) i), iii) 3R v)
(C) i), ii) 3 iv)
(D) i), iii) 3T iv)

135.

Fefie URL =T T&edT 9T & 11
A GUTEAT ! TRIE L o 0 STATE |
(A) TgH
(B) ™
(C) <The™

(D) STEIHIe
DHC TS12-WM
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How many hosts can be configured using
a subnet mask 255.255.255.248 ?

(A) 6
(B) 248
(C) 48
(D) 255

134. Whatpartof 192.168.10.51 is the Network

ID, assuming a default subnet mask ?
(A) 192

(B) 192.168.10

(C) 0.0.05

(D) 51

135.  Which of the following services use TCP ?

i) DHCP
i) SMTP

iy HTTP

iv) TFTP

v) FTP

(A) i) andii)

(B) i), iii) and v)

(C) i), ii) and iv)

(D) i), iii) and iv)

136. The first part of a complete URL is the

needed to access the web

resource.
(A) address
(B) name

(C) location

(D) protocol
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137. XMLE“X"HFm AL 2 ?
(A) Mixed

(B) Cross-platform
(C) Extensible

(D) Exclusive

138. Web.config HTSS ST IUANT TohRaT STTaT &

(A) 3 TEH R HIHT L STel Tl HTEE IS
farerée Hiese Feerar B

(B) S WL Rl TG i oh feTq

(C) 39 TSR FI HIHR 0 o fTQ

(D) TeAThyH & fod Tefierel SHEsH 3R
et ST R T

ASP # fepice ferfedn amr & |
(A) EcmaScript

(B) VBScript

(C) PERL

139.

(D) JavaScript

o= StTan fesree shie o aRomm T R 7

<script type=“text/javascript”
language ="javascript”>

var gpt = new Array();

gpt[0] = “WebDevelopment”;

140.

gpt[1] =“ApplicationDevelopment”
gpt[2] =“Testing”

gpt[3] = “QualityPointTechnologies”;
document.write(gpt[0, 1, 2, 3]) ;
</script>

(A) 3fe
(B) QualityPointTechnologies
(C) WebDevelopment

(D) Web Development, Application
Development, Testing, Quality Point
Technologies

DHC TS12-WM

GET IT ON
Google Play

137. What does the “X” in XML stand for ?

(A) Mixed

(B) Cross-platform
(C) Extensible
(D) Exclusive

138. Web.config file is used

(A) Configures the time that the server-
side code behind module is called

(B) To configure the web server

(C) To configure the web browser

(D) To store the global information and
variable definitions for the application

139. Default scripting language in ASP
(A) EcmaScript

(B) VBScript

(C) PERL

(D) JavaScript

140. What is the output of the below java script

code ?
<script type="text/javascript”
language ="javascript”>
var gpt = new Array();
gpt[0] = “WebDevelopment”;
gpt[1] =“ApplicationDevelopment”
gpt[2] =“Testing”
gpt[3] = “QualityPointTechnologies”;
document.write(gpt[0, 1, 2, 3]) ;
</script>
(A) Error
(B) QualityPointTechnologies
(C) WebDevelopment

(D) Web Development, Application
Development, Testing, Quality Point
Technologies
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141,  THIEETA gfefcrfe ST §, shuTser Tfee ot
= UNIX OS ¥ 55 e sriett 1 wufeq

foraT ST 8, 38 whed ©

(A) dev

(B) etc
(C) bin
(D) Usr

UNIX OS % fireen grer 3 gfefordt wiom,
TTEEE qUT AT B3t e
FEUdaed e |

(A) fom

(B) TS

(C) STsA

(D) @mrfe

142.

e LTS STd THY, SHST shl S-S TR <SS
ol T FA o ToTT HIH -1 HIHE SEATe fora
ST g ?

(A) Tdfied

(B) foeees

(C) <fgw i 3=

(D) ¥4,

T E H Fre iy HiEed i BURd i 6l
TS =l o1 hed & foTEd foh a8 e W oS!
U S ST ek |

(A) 22T HEUT

(B) S wfied

(C) foredfim

(D) St
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Executable utility programs, compilers
editors etc. are stored in UNIX OS in the

system directory called
(A) dev
(B) etc
(C) bin
(D) Usr

System data and utility programs,
password and login files in UNIX OS are

stored in directory.
(A) bin

(B) user

(C) profile

(D) etc

When creating a Web document, what
format is used to express an image’s height

and width ?
(A) Centimeters
(B) Pixels
(C) Dots per inch
(D) Inches

What is the process that condenses files
to be stored in less space and therefore,

sent faster over the Internet ?
(A) Data condensation
(B) Data compression
(C) Zipping

(D) Defragmentation
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(A) XAY :va

145.

(B) XvY=X"Y
(C) Both
(D) None of these

Boolean function X.Y.Z+ X.Y.Z + X.Y.Z + X.Y
fore o seR 2 7

(A) X*Y

(B) Y

€ z

(D) ¥ T 1S e

st fFefefiad %o commutative law 2 7
(A X+YV)+Z=X+(Y+2)
B) X. (Y +2)=(X.Y)+ (X.2)
C) X+Y=Y+X

146.

147.

(D) X + X =X

TS qfcta Y8 31 Dual T ST 8
(A) I IR TH H -l o
(B) @t I I U & Fgeq @

(C) |eft U ol T[T © Fqe o
(D) @+t I, TH TG . h + ¥ G T

148.

Minterm Xm (% 3,5,6) fom@ maxterm &
TS 7

149.

(A) TIM(0, 3, 7)
(B) TIM(O, 2,4,7)
(C) TIM(0,3,4,7)

(D) 37 @ IS et
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De Morgan’s law states

(A) X2 Y =X,Y

(B) Xvy=X"Y
(C) Both
(D) None of these

Truth table of Boolean function

XY.Z+XY.Z+XY.Z+X.Y matches with
(A) xry

B)Y

€ z

(D) None of these

Which of the following statement
represents commutative law ?

(A) X+Y)+Z2=X+(Y+2)
B) X. (Y +2)=(X.Y)+ (X.2)
C) X+Y=Y+X

(D) X+X=X

Dual of a Boolean theorem is obtained by
(A) Interchanging all zero and ones only
(B) Changing all zero to one only
(C) Changing all ones to zero

(D) Interchanging all zero and ones and

.0+

Minterm Xm(J, 3, 5, 6) equals to maxterm
(A) TIM(O, 3,7)
(B) TIM(C, 2,4,7)
(C) TIM(0,3,4,7)

(D) None of these


https://applink.adda247.com/d/XhqWf9lSap

Addal247

150. @& AR (X + Y + 2).(X + Y +2)®
(A) SOP form
(B) POS form
(C) Standard POS form

(D) Standard SOP form

Sferr sifrfE

X+Y+2).X+Y+2).(X+2) FIFAH
o Topa T Hehelt ©

(A) X+Y

151.

(B) X+(Y+2)
(C) X+(Y+2)
(D) X+(Y+2)

o =R @ e Afveafaa Fftfq form s wehar
g7

(A) 64

(B) 256

(C) 512

(D) 1024

TSAT Tl WIS B shl g TATell Teriiien
e Tmg AT ® 7

(A) O (n)

(B) O (log n)

(C) O (nlogn)

(D) 7 & i3 e

Quick sort it T&8 STET g qgar et o
YR A fora I Tk 3 7

(A) R G fafy
(B) wgfgshishur
(C) et farfer
(D) T8 @ s e

152.

153.

154.
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Thelogicexpression (X + Y + Z).(X + Y + Z)
is called

(A) SOP form

(B) POS form

(C) Standard POS form

(D) Standard SOP form

Boolean function
(X+Y+2).(X+Y+Z).(X+Z) can be
minimized to

(A) X+Y

(B) X+(Y+2)
(C) X+(Y+2)
(D) X+(Y+2)

How many Boolean functions of three
variables are there ?

(A) 64

(B) 256
(C) 512
(D) 1024

Most effective algorithm which finds the
median of an unsorted, n size array would
take the time

(A) O (n)

(B) O (log n)

(C) O (nlogn)
(D) none of these

Worst case efficiency of quick sort over
an array having n items can be improved

by

(A) Non-recursive method
(B) Randomization

(C) Recursive method
(D) None of these
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155.

156.

157.

158.

159.

160.

foraa qoal *1 @1 1 %1 @ array A
(-3:10, 5:12) # ?
(A) 91
(C) 112

(B) 119
(D) 104

AT &1 A& array A [1:5,2:7]. 8 A[2][3] T
TdT T BT IR TR U1 500 7 3R I
Uferd TR T UTe foRa ST ®

(A) 501 (B) 506
(C) 507 (D) 508

Stack 2
(A) T ARt G
(B) TIfcieh 3TTeheT ELEMI
(C) Fferee et T
(D) T8 & IS e

few . postfix AB*CD/+ =1 prefix fiehtet
(A) +*AB/CD

(B) +A*B/CD

(C) +AB*C/D

(D) +AB*/CD

Queue ! T o folt SEATE TR ST Sehelt
27

(A) ST

(B) shuwea

(C) Tk o

(D) st

TR T&F queue ™ frontH=Ish 1AM rear I
o SHIeR 3 1 queue

(A) Tt ?

(B) ®Ui W &

(C) T Hadd T € dcd B
(D) | Ush dcd & HehelT 2
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How many values can be held by an array
A (-3:10, 5:12) ?
(A) 91
(C) 112

(B) 119
(D) 104

Consider a two dimensional character
array A [1:5,2:7]. Assuming row major
order of storage determine the address of
element A[2][3] if base address is 500.

(A) 501 (B) 506
(C) 507 (D) 508
Stack is

(A) Static data structure
(B) Dynamic data structure
(C) Inbuilt data structure
(D) None of these

Find prefix of following postfix AB*CD/+
(A) +*AB/CD
(B) +A*B/CD
(C) +AB*C/D
(D) +AB*/CD

Queue can be used to implement
(A) DFS

(B) BFS

(C) Radix-Sort

(D) Recursion

In a queue if value of front pointer is equal
to rear pointer then queue

(A) Is empty
(B) Isfull
(C) Has one element

(D) May have one element
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